BT TRIA O - HEHHEE X T ﬂ?ﬁkﬁfﬁm AXBE
+H- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37,645 87,186 41,715 45471
RIRET1T 5 12 6 6
RIRET2T 25 53 25 28
RIRET3T 128 425 215 210
RIRET4T 386 991 482 509
B 544 1,481 728 753
REH 2,607 6,270 2,932 3,338
L&A 4,167 9,650 4,604 5,046
5E 2,466 5,998 2,914 3,084
B AN 1,238 2,866 1,358 1,508
BERT 1,140 1,829 868 961
BER2T 777 1,526 717 809
BHERST 393 899 451 448
g 2,310 4,254 2,036 2,218
BARE 251 660 333 327
= 2,174 5,270 2,488 2,782
hERE 605 1,460 668 792
e 2,299 5,199 2,507 2,692
25 L ET 2,252 5,323 2,550 2,773
B &AL BT 72 161 64 97
HEFILET1T 588 1,324 624 700
HEFILET2T 591 1,373 653 720
HEZFILAT3T 574 1,362 663 699
g 1,825 4,220 2,004 2,216
B & it B Fr ET 653 1,605 785 820
BHEREBET1T 594 1,246 600 646
BHERERET2T 754 1,790 881 909
BHERERETST 773 1,706 783 923
HEFMHET4T 455 1,028 501 527
HEHFMHETST 794 1,685 804 881
HEHFHET6T 843 1,991 954 1,037
HEFRET7T 854 2,016 973 1,043
HERERETST 56 165 75 90
£t| 5123 11627 5,571 6,056
HEF R FET 1,766 3,923 1,913 2,010
S|EFET1T 569 1,529 766 763
S|EFET2T 756 1,843 882 961
S|EFET3 T 731 1,498 713 785
g 2,056 4,870 2,361 2,509
ERE1T 543 1,332 641 691
EIRET2T 325 821 406 415
EREIST 466 1,327 648 679
EIRETAT 674 1,573 738 835
EIZEIST 472 979 485 494
g 2,480 6,032 2,918 3,114
MEH 2,722 6,257 2,945 3,312
J\THET1T 23 24 5 19
J\THET2T 24 63 32 31
J\THEI3T 60 134 63 71
B 107 221 100 121
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